
Component ID Component Description Qty Needed

10-0414 Rivet For Spotter Handle 4.00

10-0384 .125 Thick Nylon Washer 4.00

10-0385 .06 Thick Nylon Washer 4.00

10-0074 Flat Washer #8 SAE 7.00

10-0216 Allen Head Screw For Back Pack 4.00

10-0412 C Channel For Spotter 2.00

10-0379 8-32 x 3/8" Screw 4.00

10-0405 1_" PVC SCH40 Slip Thread 1.00

10-0419 Screw For Spotter Hatch 6.00

10-0383 6/32 x _ Phil Pan Blk Screw 2.00

10-0406 Nylon Barb 90 1/8 NPT _ 2.00

10-0435 Oetiker Clamp 5.00

10-0403-M 1/8" Brass Male Nipple 2.00

10-0402 1/8" QD Male 1.00

10-0304 Spotter Cap And Float Assembly 1.00

10-0407 Barb Nylon Straight 1/8 NPT X 4.00

10-0845-2 1/8" Strainer for Spotter 1.00

10-0301 L Bracket For Spotter 1.00

10-0022 Shoulder & Waist Belt Screw 2.00

10-0434 Threaded Hose for Spotter 2.50

10-0354 3 Gallon Spotter Motor 1.00

10-0386 Stamped Motor Screen 1.00

10-0380 10-32 x 3/8" Screw 4.00

10-1028 Bottom Base Plate for Spotter 1.00

10-0492 Screw for Plates on Spotter 4.00

10-1030 Spotter Motor Gasket 1.00

10-0387 5/16 x 1" Socket Head Bolt 2.00

10-0303 Roller Blade Wheel 2.00

10-0400-D Latch for Sniper 1.00

10-0400-C Keeper Latch for Sniper 1.00

10-0383 6/32 x _ Phil Pan Blk Screw 1.00

10-0448 20 Ft. Spotter/Airmover Cord 1.00

10-0025 On/Off Switch 1.00

10-1025 Back Switch Plate for 3 gal. 1.00

10-0027 Pigtail Strain Relief Spotter 1.00

10-0027-A Strain Relief Nut For Spotter 1.00

10-0350-S Sandia 3 Gal. Spot Xtract Body 1.00

10-0351 3-Gallon Heater Skirt 1.00

10-0403 1/8 Brass Female Coupler 1.00

50-1008 15' Vac Hose 1_" 1.00

10-0868 _ Female Q.D. for Sniper 2.00

10-0463 Black Slip Hose Cuff 4 Spotter 2.00

10-0801-I 90 FPT for Sniper Heater 2.00

10-0475 Solution Hose for Spotter 2.00

10-0477 Hex Pipe Nipple for Sniper 2.00

10-0801-D Brass Bushing _" x _" 2.00

10-0801-B Copper ADP for Heater _" x _" 2.00

10-0838 Pigtail for Extractor 1.00



10-0802 Strain Relief Bushing for Heat 1.00

10-1500 HD Cartridge Heater for Sniper 2.00

10-0801-C Brass Bushing  _ x 3/8" 2.00

10-0801 Heater Box for Sniper 1.00

10-0801-G Pipe Wrap Insulation for Heate 2.00

10-0814 Sensor for Sniper Heater 2.00

10-0826 _ Hose Clamp for Sniper 4.00

10-0801-F Copper Tubing for Sniper Heate 2.00

10-0801-E Copper Tee for Sniper Heater 2.00

10-0801-A Copper ADP for Heater _" 2.00

10-0501 4" Stainless Upholstery Tool 1.00

10-0416-A ABS Stand Pipe Black 1_" 1.00


